8 | L ¥ 4 l 3 1 2 !
NOTES CONTINUED: REV. DATE DCN # DRAWING TREE #
ST e R T v [ 77jon 2070 | Eroo0os E100002s
ACCEPTABLE UNLESS OTHERWISE SPECIFIED. v2 | 24 Aug 2010 E1000353 E1000025
6. ASSEMBLY PROCEDURE: EQ200357 AND E1000094.
H
G
F
E
| 23 D1002282 STEP PIN, LARGE ACTUATOR, GLIGO BSC I51 188 55 2
22 MohMaster_21944A450 Spherical Washer 406 id x 88 od x .25 fhk 18-8 S5TL 4
21 MCMASTER_921946A4633 SHCS 18-8 55 2
20 HOLOKROME_78066 SHCS 18855 "
D % MoMASTER_FBO17A355 WASHER .28 ID X .63 OD X 065 THE 300 S5TL 4
18 HOLOKROME_78060 SHCS, 1/4"-20%.875" 18855 4
17 UCC WFv-25 Flat Washer, Vented 255 1D, 46 OD, 032 THK | 18-8 $STL .
- 16 MCMASTER_92141A051 Flat Washer, 3/8" 186 55 .
15 McMaster_92196A584 Screw, SHCS, 5/16-18% 1 1/81g. 18-8 55T 4
14 | UC_COMPONENTS_WFV-31 |Washer vented, 328 ID X .562 OD X .032 THK #5/16| 18-855TL 4
13 MechMaster_22196A291 Screw SHCS, 10-32 x 1.375 Ig. 18-8 55TL 4
9 12 | UC_COMPONENTS_WFV-10 | Washer Vented, 0.195 ID, 0.354 OD, 0,032 THK #10 | 18-85 s
3 1 McMaster_921964271 Screw 10-32 x .62 Ig. 188 5§TL "
% 10 UC_COMPONENTS_H-1006 | Hex Head Machine Screw, 10-32 x 3/8 Ig vented | 18-85STL .
g i 9 HOLOKROME_78062 SHCS, 1/4"-20x1 0" 18855 1
; 8 McMaster_90145A539 Dowel Pin 1/4" (.2501) x 5/8" L 18.8 ST Sk“m“ 2
g B 01000175 THERMAL BAR. LEFT. LARGE AGTUATOR. alIGO BSC | copper .
% . 1000176 THERMAL BAR. RIGHT, LARGE ACTUATOR, 9GO | copper :
; 8 5 DO902424 RO AL A T s R ECToR: £081T6 Al 2
é 4 D1000478 SENSOR ASSEMBLY HORIZONTAL, GLIGO BSC I51 /A 1
8 a DOR0274% Large Actuater, aliGO SEI HAM-ISI & BSC-ISI A 1
; . 2 00902427 AT o B L e R TONTAL £081T6 Al |
% 1 00702310 A R M N BRACKET. 6061-T6 Al 1
% em PART NUMBER DESCRIPTION MATERIAL Cgﬁi?;}% Y.
2 NOTES AND TOLERANCES: [UNLESS OTHERWISE SPECIFIED) I PART NAME
2a DIMENSIONS ARE I INCHES 1 INTERPRET DRAWING PER ASWE 114.5199:. “LIGO WASSREHURES STIUTE G TEChOLOGY LARGE HORIZONTAL ACTUATOR ASSY, aLIGO BSC ISl
% TS(LER:”,%ES: %p‘?ﬁr%&%@éﬁﬁﬁj E@Eg Rgﬂg}%?%ﬁgﬁﬁmo FULLY WATER SOLUBLE |P0EM ADVANCED LIGO SUB-SYS;EI DESIGNER | soarium |01 vr, 2010 | SIZE | DWG. NO. REV.
9 oy : N"A ., . A DRAFTER MHILLARD 27 Jon. 2010 D D090 .| .| 02 V2
8 MATERIAL FINISH NEXT ASSY CHECKER | Fwaichars | 27 Jan 2010
g ANGULAR: N/A* N/A N/A pinch D1000310 APPROVAL|  trason | 27500 2010|SCALE: 1:] | PROJECTION: ©f | seriorz
8 T L) 4 I 3 I 2 I 1




D001 102 Large Horzontal Acheotor Assy. Stoge 0-1, olIGO BSC 151, PART PDM REV: X-043, DRAWING POM REV: X-004

LIGO

CALIFORNIA INSTITUTE OF TECHNOLOGY
MASSACHUSETTS INSTITUTE OF TECHNOLOGY

SIZE

D

DWG. NO.

REV.

DO?01102 | v2

SCALE: 1:1

| ProJECTION: @—g [ sweer2or2
]




